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QUESTION NO: 1

Which are two benefits of IBM Cloud Functions? (Choose two.)

A. Visual debugging

B. Scale up or down automatically

C. Based on Kubernetes

D. Focus on code, not infrastructure

E. Out-of-the-box connectors to several databases

ANSWER: B D 

QUESTION NO: 2

To get the most out of Endurance File Storage, which option specifies performance?

A. Choose configuration items from NFS that configure performance levels to fit workloads

B. Choose IOPS storage tier that feature pre-defined performance limits

C. Choose IOPS catalog items from NFS that manage performance configuration settings

D. Choose from NFS catalog items from that manage performance configuration settings

ANSWER: B 

Explanation:

https://cloud.ibm.com/docs/FileStorage?topic=FileStorage-orderingConsole

QUESTION NO: 3

Which of the following two databases are integrated with IBM Cloud Hyper Protect Crypto Services?

A. PostgreSQL

B. MySQL

C. MongoDB
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D. Cassandra DB

E. MS-SQL

ANSWER: A C 

Explanation:

https://cloud.ibm.com/docs/hs-crypto?topic=hs-crypto-integrate-services

QUESTION NO: 4

Which of the following can be monitored with IBM Cloud Monitoring with Sysdig?

A. Cloud Functions Applications

B. Containers within IKS

C. Cloud Foundry Applications

D. Windows Virtual Servers

ANSWER: B 

QUESTION NO: 5

Which Watson Language Translator feature protects your privacy so you can own your data?

A. Watson object store for data

B. Ability to opt-out of any data collection

C. Ability to stream data over HTTPS

D. Data privacy plug-in for Watson

ANSWER: B 

QUESTION NO: 6

Which two of the following can be managed by IBM Cloud SSL Certificates? (Choose two.)

A. Self-signed SSL certificates
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B. SSL certificates ordered in IBM Cloud

C. SSL certificates not imported into IBM Cloud

D. SSL certificates imported into IBM Cloud

E. Certificate Service Requests (CSR)

ANSWER: D E 

QUESTION NO: 7

To view a local version of the OpenShift dashboard and to deploy apps into your Red Hat Openshift cluster on IBM Cloud, 
which two command line interfaces (CLIs) could be installed? (Choose two.)

A. Kubernetes CLI

B. Container Registry CLI

C. OpenStack CLI

D. Cloud Foundry CLI

E. OpenShift CLI

ANSWER: A E 

QUESTION NO: 8

What is a key requirement of a resilient architecture?

A. High rate of resource utilization

B. Low rate of resource utilization

C. High tolerance level for interruption

D. Low tolerance level for interruption

ANSWER: D 

QUESTION NO: 9
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What is the minimum number of servers an Event Stream cluster in IBM Cloud must be composed of?

A. Four servers in load balance

B. One

C. Two servers

D. Three servers

ANSWER: D 

QUESTION NO: 10

Which of the following two actions can be taken to add worker nodes to a single zone cluster with IBM Red Hat OpenShift 
Kubernetes Service?

A. Provision a new virtual machine

B. Spin up a new host

C. Add a new worker node to the existing worker pool

D. Add a new worker pool

E. Repurpose a master

ANSWER: C D 
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